Round 3
Tossups

1. This set of statements was compiled Oliver Heaviside and these statements allowed for the discovery that the inverse of the square root of the product of the permittivity and permeability constants of free space was equal to the speed of light. The electromagnetic wave equation can be derived from these statements and one of these statements is used to determine the magnetic field created by a [*] current and includes a namesake displacement correction. Two are named after a German mathematician, one after Faraday, and one after Ampère. For 10 points, name this set of partial differential equations including Gauss’s Law, codified by a Scottish scientist.

ANSWER: Maxwell’s Equations
<Liu>

2. This disaster was aggravated by Thomas Bloodworth’s failure to respond quickly, and due to an ongoing war, lynching of French and Dutch residents was common during it A plague was recorded alongside this event by Samuel Pepys (“Peeps”) and this disaster was reported to have begun in Thomas Farriner’s bakery on [*] Pudding Lane.This event was commemorated by a large Doric column known simply as “The Monument,” and after this event, Sir Christopher Wren reconstructed St. Paul’s Cathedral. For 10 points, name this September 1666 conflagration that destroyed the capital of England.

ANSWER: 1666 Great Fire of London [accept equivalents mentioning both fire and London]

<Liu>

3. In one novel by this man, Felipe Montero learns that the title character is a younger version of General Llorente's widow, while this writer's first novel follows Ixca Cienfuegos (“chee-en-fue-gos”) in search of a sacrifice to avenge his gods. This author of Aura and Where the Air is Clear created Pollo Phoibee, who falls into the Seine and ends up in Ancient Rome and Philip II’s Spain in [*] Terra Nostra. Another work by this man sees an Ambrose Bierce-inspired character killed by one of Pancho Villa's generals, while another work describes a dying tycoon’s life from the Revolution to days of great wealth. For 10 points, name this Mexican author of The Old Gringo and The Death of Artemio Cruz.

ANSWER: Carlos Fuentes Macias

<Liu>
4. The keyboardist of this band has a side project with vocalist Wes Miles of Ra Ra Riot called Discovery, which released the album LP. This band’s name comes from a film made by the band members, which also inspired a song that urges the title character to get “out of Cape Cod tonight,” entitled “Walcott.” This band’s debut album includes one that describes a girl with a Louis Vuitton bag and describes Peter [*] Gabriel as unnatural, and their sophomore album Contra begins with the song “Horchata.” For 10 points, name this band made up of Columbia graduates, the indie group behind “A-Punk” and “Cape Cod Kwassa Kwassa.”

ANSWER: Vampire Weekend
<Liu>

5. One work by this author posits that history repeats itself “first as tragedy, then as farce,” in The Eighteenth Brumaire of Louis Napoleon. This thinker distinguished humanity from animals through their ability to produce their own subsistence in one work. In another, this philosopher explained how the C-M-C pathway had been replaced with the M-C-M pathway. In addition to writing The German Ideology and [*] Das Kapital, he also wrote a work in which he gives ten short term demands to solve the class system. For 10 points, name this German philosopher who, with Engels, wrote The Communist Manifesto.

ANSWER: Karl Heinrich Marx VII

<Dong>

6. This politician beat out George Dewey to be the Democratic presidential candidate with Adlai Stevenson I, and his opposition to heavy retaliation after the Lusitania affair caused him to resign from his post as Secretary of State under Wilson. This man argued for the prosecution against Clarence Darrow in the Scopes Monkey Trial and advocated [*] bimetallism in a speech proclaiming that “you shall not press down on the brow of labor this crown of thorns.” For 10 points, name this Populist orator who said that “you shall not crucify mankind on a Cross of Gold” and who ran for president and lost in both 1896 and 1900.

ANSWER: William Jennings Bryan
<Lee>

7. Under this belief, the urvan is united with a fravashi, or guardian, before life and four days after death in order to collect its mortal experiences for the conflict in the spirit world. This religion emphasizes deeds and actions, and thus asceticism is looked down upon because it is fleeing from the experiences of life, which is the purpose of the urvan. Followers of this religion believe that the dead should be exposed to the elements and thus build [*]  “Towers of Silence”. This religion’s doctrine is written in the Avesta and believes in an ongoing war between Angra Mainyu and Ahura Mazda. For 10 points, name this Persian dualistic religion named for its prophetic founder.

ANSWER: Zoroastrianism [or Zarathustraism]

<Dong>

8. The Vicar of Bray Hypothesis explains why populations that undergo one variety of this process respond to environmental changes better than others, and Muller’s Ratchet explains why populations using another variety of this process build up deleterious mutations. John Maynard Smith’s “cost of males” is part of the puzzle as to why some organisms use one variety of this process rather than another. One type of this process, exemplified in binary [*] fission, results in the creation of genetically identical organisms, while its other variety involves two parents creating offspring. Either asexual or sexual, for 10 points, name this process by which new organisms are created.

ANSWER: reproduction [accept sexual reproduction until “Ratchet”]

<Mehigan>

9. This poem may have been written to compete with a similar one by Horace Smith. An unnamed man tells the speaker that the subject’s creator had correctly identified “the hand that mocked” and “the heart that fed.” This poem’s speaeker describes a “wrinkled lip” and a “sneer of cold command.” The head of this poem’s central figure is [*] shattered and lies “half sunk” in the sands, which “stretch far way” around the “colossal wreck,” while “two vast and trunkless legs of stone” in the desert are all that remain. Containing an inscription that reads, “Look on my works, ye Mighty, and despair!,” for 10 points, name this Percy Shelley poem about a fallen statue.
ANSWER: “Ozymandias”

<Liu>

10. The end of one of this man’s operas features the fugue “Tutto nel mondo e burla” sung beneath Herne’s Oak. That opera features a character who pursues Mistresses Page and Ford and gets stuffed in a laundry basket, Falstaff, and the “Anvil Chorus” is part of this man’s opera [*] Il trovatore. In one opera by this man, Gilda is killed instead of the Duke of Mantua, who sings “La donna è mobile” and employs a humpbacked jester, and in another, the Temple of Vulcan is the site of Ramades getting buried alive with an Ethiopian princess. For 10 points, name this operatic composer of Rigoletto and Aida.

ANSWER: Giuseppe Fortunino Francesco Verdi
<Mehigan>

11. One ruler of this empire held a court whose “Nine Jewels” included the witty Birbal, who joined that ruler’s new religion of Din-i-Ilahi. This empire’s sixth ruler re-instituted a tax on non-Muslims called the jizya, while another ruler of this empire defeated Ibrahim Lodhi at [*] Panipat. This empire’s last ruler was Bahadur II. One ruler of this empire was defeated by Sher Shah Suri, and Aurangzeb’s father commemorated his own wife Mumtaz with the Taj Mahal. This empire was founded by Humayun’s father Babur and later ruled by Shah Jahan and Akbar. For 10 points, name this Muslim Indian empire.

ANSWER: Mughal Empire.

<Mehigan>

12. In one work by this man, a detective’s last words are repeated by another character to describe everyone, while another shows a Professor who commits murder out of frustration with his student’s inability to learn. This author of Victims of Duty and The Lesson wrote about a group of invisible people seated on the title objects, and another play by him involves a [*] fire chief who utters the title phrase before leaving the Smith house, where the Martins have been invited for dinner. This Romanian-born Frenchman wrote The Chairs and several plays about Berenger. For 10 points, name this Absurdist playwright of Rhinoceros and The Bald Soprano.
ANSWER: Eugene Ionesco
<Liu>

13. The main temple to this deity is torn down every twenty years to be rebuilt in its original form and is named Ise-Jingue. Also known as Tensho Daijan, this figure gave a sword, a previous gift from a brother, to a grandson in order to pacify and rule the land. This goddess saw herself in a [*] mirror for the first time after her brother threw a flayed horse into her weaving room which caused her to seclude herself from the world. This entity’s descendant Jimmu was given three proofs of divine right when he became emperor of the land. Brother to Susanoo and Tsukiyomi, for 10 points, this is what Shinto sun goddess. 

ANSWER: Amaterasu
<Dong>

14. This nation was unable to spur private construction of power plants, causing the state-owned power supplier Eskom to experience deficiencies and rolling blackouts across the region in 2007. The fossil remains at Sterkfontein, Kromdraai and Makapansgat caves suggest australopithecus were present in this nation 3 million years ago. It contains a vast, flat, and sparsely populated scrub-land to the northwestern regions called the Karoo, and completely [*] surrounds the nation of Lesotho. Sporting a large diamond mining economy, for 10 points, name this African country with three capitals at Pretoria, Bloemfontein, and Cape Town.

ANSWER: South Africa
<Bhattacharya>

15. This quantity can be estimated by adding 198 to the sum of the group contributions with Joback’s Method, and the entropy at this point is given by Trouton’s constant. Adding a non-volatile solute to a pure solvent results in this quantity’s “elevation” and [*] superheating occurs when a liquid’s temperature is above this quantity. This quantity is lower at higher elevations and this point is equal to the temperature at which the vapor pressure of the liquid equals the atmospheric pressure. Measured with an ebulliometer, for 10 points, name this quantity for liquids which is 100 degrees Celsius and 212 degrees Fahrenheit for water, at which a liquid turns into a gas.

ANSWER: boiling point

<Vikram>

16. This man hypothesized that the six known planets at the time moved around the sun in orbits that were distinct Platonic solids in his first major work, Mysterium Cosmographicum, and he created a catalogue of stars and planets called the Rudolphine Tables. This man derived a law stating that the square of the orbital period of a [*] planet is proportional to the cube of the semi-major axis. This man came to the conclusion that the sun was at the focus of Earth’s elliptical orbit by using his mentor Tycho Brahe’s notes. For 10 points, which German astronomer formulated three namesake laws of planetary motion?

ANSWER: Johannes Kepler
<Liu>

17. This character participates in a pageant entitled Ad Astra Per Aspera in which she mentions Agnes Boone making “a lovely butterbean.” In that pageant, this character dresses up as a piece of ham. She observes Mrs. Dubose die of a morphine addiction and leaves presents outside a neighbour’s house with [*] Dill Harris. At the end of the novel in which this character appears, she is saved by Boo Radley, and this character opens her novel by saying that her brother Jem broke his elbow. For 10 points, name this daughter of Atticus Finch, the narrator of Harper Lee’s To Kill a Mockingbird.

ANSWER: Scout Finch [prompt on “Finch” before “Atticus Finch”]

<Vikram>

18. The end of this period saw the leader of the KSC demoted to the forestry service during “normalization.” In this period’s aftermath, Jan Palach immolated himself, and greater freedom to travel to western nations was proposed by this period’s “Action Program.” This period was stopped by the signers of the Bratislava Declaration. This period began with the removal of Antonin Novotny and ended with the installation of [*] Gustav Husak by a Soviet invasion justified by the Brezhnev Doctrine. For 10 points, name this period that tried to establish “socialism with a human face,” instigated by Alexander Dubcek as a liberalization of Czechoslovakia.

ANSWER: Prague Spring [or Prazka Jar; or Prazske Jaro]

<Lee>

19. A gap in this quantity is related with unemployment in Okun’s law, and cost-push inflation is characterized by a decrease in this value. It differs from its counterpart in that it does not account for investments by foreigners nor investments held by natives in [*] other countries. Calculated using the income or expenditure approach, this value is defined as the sum of private consumption, gross investment, government spending and net exports.  A decrease in it for two consecutive quarters is known as a recession. Also known as aggregate demand, for 10 points, identify this quantity that is equal to the net goods and services produced in a country.

ANSWER: gross domestic product

<Mylavarapu>

20. At the back of this painting is a green door behind a brown curtain. A clock on the orange back wall reads 12:15, and below the clock in this painting is a table with many bottles of wine on it along with a large white vase with flowers. In this painting, a man in a white suit stands next to a table with a wine bottle and a glass on it, and above him is a large [*] yellow chandelier hanging from the green ceiling. Groups of people sit drinking at various tables in this work. There is a pool table at the center of, for 10 points, what painting depicting an eatery late in the day by Vincent Van Gogh?

ANSWER: The Night Café [or La Café du Nuit]

<Vikram>

STOP - THAT IS THE END OF THE GAME

DO NOT GO ON UNLESS THE SCORE IS TIED OR A QUESTION WAS THROWN OUT

21. The quantum coupling of this quantity is described using Clebsch-Gordan coefficients. If a system’s Lagrangian is rotationally invariant, this quantity is conserved due to Noether’s Theorem. For atomic orbitals, this quantity, represented as the azimuthal quantum number, must be an integer multiple of h bar, and its intrinsic form was quantized in the Stern-Gerlach experiment and is called [*] spin. Both Kepler’s Second Law and gyroscopes demonstrate the conservation of this quantity in the absence of net external torque. For 10 points, name this cross product of position and linear momentum, symbolized with L.

ANSWER: angular momentum [do not accept or prompt on “momentum”]

<Mehigan>

Bonuses

1. Her adulterous escapades begin once she meets Rodolphe Boulanger, and she continues on with Leon Dupuis until she commits suicide by consuming arsenic. For 10 points each:

[10] Name this title character of a French novel, which begins with Charles courting her, and ends with both of them dead.

ANSWER: Madame Emma Bovary [accept either]

[10] Madame Bovary is a novel by this man, who considered The Temptation of St. Anthony to be his masterpiece.

ANSWER: Gustave Flaubert
[10] This novel, Flaubert's last, describes the life of Frederic Moreau, who has an on-and-off affair with Madame Arnoux.

ANSWER: A Sentimental Education
<Vikram>

2. Concepción is the capital of this country’s Bío-Bío region. For 10 points each:

[10] With the other cities including Coquimbo and Valparaíso, this skinny South American country, west of Argentina, has its capital at Santiago.

ANSWER: Republic of Chile [or República de Chile]

[10] This island is a territory of Chile. It was discovered on its namesake holiday and is home to many large stone heads called moai.

ANSWER: Easter Island [or Rapa Nui; or Isla de Pascua]

[10] Rich in saltpeter and copper, this very arid desert in northern Chile contains the port of Antofagasta. Some parts of it receive less than 1 mm of rain per year.

ANSWER: Atacama Desert [or Desierto de Atacama]

<Wasserman>

3. She was a Jewish queen of the Persian king Ahasuerus. For 10 points each:
[10] Name this queen and heroine of a namesake book of the Bible, in which she reveals her Jewish heritage and prevents an extermination of her people. Her actions are the basis for the celebration of Purim.

ANSWER: Esther [or Hadassah]

[10] This woman is the central character of another Biblical book. She is given six measures of barley in a wheat field by Boaz, whom she later marries to become an ancestor of David and Jesus.

ANSWER: Ruth
[10] This Biblical woman was a prostitute who hung a red cord from her window in Jericho so that Joshua’s men would spare her and her family.

ANSWER: Rahab
<Bhattacharya>

4. A leg wound from jousting made this king obese. For 10 points each:

[10] Name this six-wived Tudor king of England who dissolved the monasteries and united Wales and England.

ANSWER: Henry VIII [prompt on “Henry”]

[10] Henry VIII founded this church because the Pope wouldn’t grant him a divorce from Catherine of Aragon.

ANSWER: The Church of England [or Anglican Church; accept Anglicanism]

[10] After organizing the Field of the Cloth of Gold, this cardinal failed to get dispensation from the Pope for Henry’s divorce and was therefore stripped of titles and properties. He died on the way to his trial for treason.

ANSWER: Thomas Wolsey
<Lee>

5. This law states that current density is equal to the product of conductivity and electric field. For 10 points each.

[10] Name this law which is sometimes described through the hydraulic analogy, using pressure, flow-rate, and flow restrictors as analogs for voltage, current, and resistance. In DC circuits it is often written as V=IR.

ANSWER: Ohm’s Law
[10] This law formulated by a German scientist is considered a consequence of the conservation of energy. Also referred to as the “loop rule” it states that the algebraic sum of all voltages in a loop is 0.
ANSWER: Kirchoff’s Law of Voltage [or Kirchoff’s Second Law]
[10] This theorem eliminates all but one source of power within a network at a time to determine voltage/current drops for each source separately. The values for each source are added in the namesake action to find actual drops.
ANSWER: Superposition Theorem

<Bhattacharya>

6. The title figure is clothed in red, and a man behind him carries a British flag. For 10 points each:

[10] Name this Neoclassical painting depicting a Native American kneeling next to an expiring military figure at the Battle of Quebec.

ANSWER: The Death of General Wolfe
[10] This Anglo-American artist painted The Death of General Wolfe in addition to Treaty of Penn with the Indians.
ANSWER: Benjamin West
[10] Benjamin West served twice as the director of this art institution centered in London. Its first director was Joshua Reynolds and it was founded in 1768.

ANSWER: The Royal Academy of Art

<Vikram>

7. The protagonist of this novel develops feelings for Will Landislaw after she realizes The Key to All Mythologies won’t be completed. For 10 points each:

[10] Name this “study of provincial life” in which Edward Causabon is married to Dorothea Brooke.

ANSWER: Middlemarch: A Study of Provincial Life
[10] This author of Adam Bede and Felix Holt, the Radical wrote Middlemarch.
ANSWER: George Eliot [or Mary Anne Evans]

[10] In a novel by Eliot, this man is a miserly weaver in Raveloe. He adopts Eppie after Dunsey Cass steals his gold.

ANSWER: Silas Marner [accept either]

<Mehigan>

8. Answer the following about things that the Bill of Rights protects us from, for 10 points each:

[10] This is the act of being tried twice or punished twice for the same offense. The fifth amendment disallows it.

ANSWER: double jeopardy
[10] The Bill of Rights protects us from unfair trials by ensuring that we have a trial by one of these entities that make the decision. They consist of a group of our unbiased peers.

ANSWER: jury [or juries]

[10] The fifth amendment also allows us to get just compensation when the government exercises this right, which allows them to take private property without the owner’s consent, which is then generally used for infrastructure.

ANSWER: eminent domain
<Vikram>

9. Answer the following about numbers in computer science, for 10 points each.

[10] These numbers are characterized by a mantissa, or base, and a signed integer as an exponent. They are more precise than integers and can have “single precision” and “double precision” types.

ANSWER: floating point numbers [or floats]

[10] Processors compute calculations in this number base system. The only usable digits in this base are 0 and 1.

ANSWER: binary [or base 2]

[10] The characters in this table of 128 characters used in computer science can be represented by hexadecimal, octal, or decimal numbers. The decimal numbers 65-90 represent the capital letters of the alphabet.

ANSWER: American Standard Code for Information Interchange
<Vikram>

10. Among the reasons for their rebellion were bullet cartridges sealed with pork and beef. For 10 points each:

[10] Name these British soldiers of a certain nationality who rebelled in 1857.

ANSWER: Sepoys

[10] Sepoys were British soldiers from this country, which rebelled along with the Sepoys in the Delhi and Uttar Pradesh regions.

ANSWER: India
[10] Sepoys were excluded from the body count of this event, which occurred when over a hundred prisoners were crammed into a tiny room in the namesake city and the Nawab of Bengal ignored them.

ANSWER: Black Hole of Calcutta
<Lee>

11. Name these genres of video games, for 10 points each.

[10] These games involve a character steadily developing by levels and adventuring in quests. Examples include Chrono Trigger and Planescape and the MMO variety includes World of Warcraft.

ANSWER: role playing game

[10] The first one of these was Dune II. These games involve the creation of units by gathered resources and mass combat. Other examples of this genre include Supreme Commander, Total Annihilation, and Age of Mythology.

ANSWER: real time strategy Game

[10] These scrolling 2d or open 3d games involve fighting a large amount of antagonists at once with only melee weapons, if any. Examples include Battletoads and Double Dragon.

ANSWER: beat ‘em up game [accept brawler; do not accept “fighting game”]

<Lee>

12. In this novel, Charles Drouet gets the protagonist a lead role in Daly’s play Under the Gaslight. For 10 points each:

[10] Name this novel that sees Caroline Meeber move to Chicago, where she conducts affairs with Drouet and George Hurstwood before moving to New York and rooming with the chorus girl Lola Osborne.

ANSWER: Sister Carrie
[10] This naturalist author of The Financier and Jennie Gerhardt wrote Sister Carrie.

ANSWER: Theodore Herman Albert Dreiser
[10] This Dreiser novel sees bellhop-turned-factory foreman Clyde Griffiths romantically involved with Hortense Briggs, Roberta Alden, and Sondra Finchley before he is executed for drowning Roberta on Big Bittern Lake.

ANSWER: An American Tragedy
<Mehigan>

13. Name following quantities in thermochemistry, for 10 points each.

[10] This quantity is zero in adiabatic processes and its specific variety is a property of masses with units joules per kilogram. It is a thermodynamic potential measuring the total energy of a thermodynamic system, symbolized “H.”

ANSWER: enthalpy
[10] Ice melting in a warm room is an example of an increase in this quantity, with units of joules per kelvin. The second law of thermodynamics requires its increase in a closed system, and it is described as a measure of chaos.

ANSWER: entropy
[10] This quantity is negative in spontaneous reactions and differs from Helmholtz’s version. It is the capacity of a system to do non-mechanical work; it is zero at equilibrium; and it is symbolized by the letter G.

ANSWER: Gibbs free energy [or Gibbs function; or free enthalpy]

<Bhattacharya>

14. One symphony by this man features a monotonous ticking rhythm. For 10 points each:

[10] Name this composer of the “London symphonies,” the ninth of which is the “Clock” and the second of which is the “Surprise.”

ANSWER: Franz Joseph Haydn
[10] This string quartet by Haydn shares its title with a piano concerto by Beethoven. It includes the “Gott erhalte Franz den Kaiser” melody, dedicated to the King Francis II.

ANSWER: Emperor String Quartet [or String Quartet Opus 76, No. 3]

[10] This Haydn symphony sees all but two of the musicians gradually leave the stage during its last movement adagio. Each exiting musician snuffs out his candle.

ANSWER: Symphony No. 45 in F-sharp minor, Farewell [accept either]
<Vikram>

15. This entity is currently led by Herbert Van Rompuy and Turkey is trying to get in it. For 10 points each:

[10] Name this multinational entity which covers its namesake continent and which was led by Nicholas Sarkozy for a portion of 2008.

ANSWER: European Union

[10] This is the administrative center and de facto capital of the EU. It is also the capital of Belgium.

ANSWER: Brussels Region

[10] This treaty created the European Union and the Euro. It was amended by the Treaty of Lisbon.

ANSWER: Treaty of Maastricht
<Lee>

16. This work frequently cites Aristotle and other philosophers and theologians in discussing ethics and Christianity. For 10 points each:

[10] Name this unfinished philosophical compendium. It is structured by questions, articles, and objections, and the five proofs for the existence of God contained in this work are known as the Quinque Viae.

ANSWER: Summa Theologica
[10] Summa Theologica was written by this philosopher and theologian, who was versed in the tradition of scholasticism. He is considered the model teacher for priests and is also known as Doctor Angelicus.

ANSWER: Saint Thomas Aquinas [or Thomas of Aquin]

[10] Thomas Aquinas refers to this other saint in defining sin as “a word, deed, or desire, contrary to the eternal law.” This saint framed the concept of original sin and just war and is known for his Confessions.
ANSWER: Saint Augustine of Hippo

<Bhattacharya>

17. Operas about this figure include one that finishes with a galop infernal. For 10 points each:

[10] Name this subject of an opera by Offenbach in which he is “in the Underworld” in addition to an opera by Gluck in which he sings “Chi mai dell’Erebo” to Cerberus.

ANSWER: Orpheus [or Orfeo]

[10] This Italian composer composed L’Orfeo, said to be one of the first operas. He is also known for his madrigals, in addition to the operas The Return of Ulysses and The Coronation of Poppea.

ANSWER: Claudio Monteverdi
[10] The galop infernal from Orpheus in the Underworld is the tune associated with this dance of French origin. It involves throwing up legs while standing in a line.

ANSWER: can-can
<Vikram>

18. In this play, Nepommuck claims that a character is not from England, but is in fact of Hungarian Royalty. For 10 points each:

[10] Name this play in which flower girl Eliza Doolittle is trained to speak English like a duchess by Henry Higgins.

ANSWER: Pygmalion
[10] Pygmalion was written by this Irish playwright of Mrs. Warren’s Profession and Major Barbara.

ANSWER: George Bernard Shaw
[10] This character in Pygmalion falls in love with Eliza and later marries her. Henry Higgins laughs at the prospect of that marriage.

ANSWER: Freddy Eynsford-Hill [accept either underlined part]

<Vikram>

19. Answer these questions about a period of American religious history, for 10 points each.

[10] This is the term used to refer to periods of great revival of evangelical Protestant Christianity. Important figures in these movements included George Whitefield and Charles Grandison Finney.

ANSWER: Great Awakenings

[10] This pastor of the first Great Awakening preached sermons such as “Sinners in the Hand of an Angry God,” in which he described God dangling a sinner on a spider’s web.

ANSWER: Jonathan Edwards
[10] During the Second Great Awakening, these people believed William Miller’s declaration that Jesus was coming back in 1844. After their Great Disappointment, their “Seventh Day” version retains a significant following.

ANSWER: Adventists [accept “Seventh Day Adventists”]

<Lee>

20. Answer these questions about cellular messengers, for 10 points each.

[10] Cellular messengers work by phosphorylation, which involves taking a phosphate group from this energy-storing nucleotide, which is created by its namesake synthase in the mitochondria.

ANSWER: adenosine triphosphate [or ATP]

[10] One molecule which conducts messages from the cell surface to the cytoplasm or nucleus is this molecule, derived from ATP. It activates protein kinase A and its decomposition is catalyzed by phosphodiesterase.

ANSWER: c-AMP [or cyclic adenosine monophosphate; or cyclic AMP]

[10] When phosphorylation needs to be reversed, these enzymes come into play, usually activated along with the kinases they counteract when a stimulus occurs.

ANSWER: phosphatases

<Lee>

21. Hernan Cortes was once mistaken for this god. For 10 points each:

[10] Identify this Mesoamerican “plumed serpent.” Tezcatlipoca exiled this brother of Xolotl.

ANSWER: Quetzalcoatl
[10] Quetzalcoatl was a member of the pantheon of these people, who also worshipped the rain god Tlaloc, who delighted in child sacrifice.

ANSWER: Aztecs

[10] This Aztec god of sun and war was born after his mother Coatlicue was impregnated by a ball of feathers.

ANSWER: Huitzilopochtli
